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Public Administration

Paper 1II

weh qomEd
gouTeRt 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U Sed. @d U Wi

A : A TRAUGERG THU WX (100) SgTaEl U ol oed. Todsh WA g (2)

Micro level studies on comparative

administration focuses on :

(A) Comparison of administrative

systems of two nations

(B) Comparison of local government

in different countries

(C) Comparison of administrative
system and its external

environment

(D) Concerns with  certain
important parts of an

administrative system

The approach which tried to
establish linkages between the study
of Public Administration and the

institutions of Government is :
(A) Behvioural approach

(B) Institutional approach

(C) Structural-functional approach

(D) Ecological approach

qeAIcHeh SRITEHTERICT F&H e 3194

(B) forfae Tegmes 1i-eh AT ger

(C) 93MTEsTA sgaLen ofur «a
AT e

(D) YRR SHeRIHHTe g Hawr=Al
qATeR. X

IMHH A FEen efuy ARy

AYEHL ROl ghedhE  HaY
Sredr ?

(A) aERT g™

(B) HEAHE gfeeh

(C) T IcHS Sl gheahA

(D) wHfeRuER gfteswh

[P.T.O.



The ecological perspective in the
study of Public Administration was
introduced primarily through the
writings of :

(A) Robert Golenbiewski

(B) Ferrel Heady

(C) John Gaus

(D) Gunnar Myrdal

The dominant pattern of

recruitment in USA is :
(A) Spoil system

(B) Special course certification

system
(C) Patronage system
(D) Managerial approach

Bureaucracy acts as a tutelary
element watching over society and
protecting it from political

extravagances in :
(A) USA

(B) UK

(C) France

(D) Japan

JUN - 21220/I1—C

AR I SAETHE qHiaoee!

qEIeh I hIUT=AT ACHRT TSI S

HEd QU el 2
(A) e TeATeeht
(B) ®d BEI

(C) St T

(D) TR faea

I TH.T. & HIAHIS! RVl Tgdran Tie
™ et Sid ?

(A) 92 (HferT) gt

(B) fomiw sfeameshy FHIOTTS U

(C) STy (WR&weh) dga

(D) HATATIRIT Gheah

TSR SIS S=foudrd  3Afor

GHSIER. IS SaUad hivcdl eIt

AIREMEN hded A Heeh TUA H
L ?

(A) ZTET

(B) 4.

(C) B

(D) SU™




Scope of development administration

according to Riggs does not cover :
(A) Physical environment

(B) Human activities

(C) Economic activities

(D) Government capacity

Match List I with List II and select
the correct answer by using the codes

given below :
List I
(@) Civil Society
(b) Plato
(¢) Thomas Davenport
(d) R. Shamasastry
List II
(1) Business process re-engineering
(2) Arthashastra
(3) Philosopher king
(4) Third sector
Codes :

(@ B) () ()
A @2 3 QO @
B @ B @O @
< @1 G 2 @
O @ 2 G @
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e 7 faeme g st
..................... = 9UEY |9 e

(A) Sifas =R

(B) wrel TR/«

(C) emfefsr =

(D) SRl &Fwe

T 1 Hiad g=t 1 S[esan A1 @il

Hehdiehlqd Aard Iax e .
T 1

(@) R §HS

(b) wid

(c) ofAYg Ssare

(d) . THRITS
g 11

(1) HaE™ Gfshan gH-STi=fent

(2) Frefeme

(3) SwifteR T

(4) fa= &=

Hehdich :

(@ B) () ()

A 2 & 1 @

B) @ B 1 @

©c O 6 @2 @

D @ @ 3 @

[P.T.O.



10.

Which model of development
supports the destruction of the

capitalist economies ?
(A) Communist model

(B) Diffusion approach

(C) Human needs centered
development
(D) Alternative development

approach

This is not a widely accepted

indicator of human development :

(A) Per capita income

(B) Life expectancy

(C) Human security

(D) Education

Social audit is not a way of :

(A) Ascertaining organization’s
progress

(B) Measuring organization’s social

performance

(C) Understanding organisation’s
social performance

(D) Reporting organization’s social

performance

10.
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AN A~ NN N .
CATATYeh[ TARTHTE h[Vd JY HlSdel-

e Srefegaa= faamer arg urdien
d ?

(A) 9rEEl WY

(B) fogdem gfesm

e o

(C) HFEE TRSehfed f

cn

(D) T fasm gfesm

U EEUTd AT T9adl HI 4

faerramen fadsmes § 3R
(A) Elglg 3T

(B) 3TgAM
(C) AMet gam

(D) ferero

(A) T Y= @ o)
(B) TET= 9rHIfSIeh shAARE {07

o0

(C) HEAT=AT HHITSToh A 3ATehelq

[

(D) HEAT=AT HHITSToh hTHITIET 3TgaTd




11.

12.

13.

14.

The essence of New Economic Policy
is :

(A) Outright privatization

(B) Liberalizing control system
(C) System change

(D) Closure of unviable units

The focus of Industrial Policy

Resolution (1977) was on :

(A) Development of heavy industries
(B) Decentralised production

(C) Greater autonomy to PSUs
(D) Efficiency in public sector

Implementation of disinvestment

policy suffers from :

(A) Lack of popular support
(B) Vested interests

(C) Political opposition

(D) Absence of commitment

Privatisation means :

(A) Distancing of public enterprises
from government

(B) Taking control of private
companies

(C) Joint venture with private
companies

(D) Investing capital in private

companies

11.

12.

13.

14.
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(C) e 9l

(D) AHBE HEH=T FHTE!
AENfTeR &0 30 (1977) B Wielieteht

hIUTCA] FZhTaR TR Zlehdl 2

(A) S 3EnmEn faem™

(B) foshfga scareq

(C) grawfis a7 SuHATS 2Afes
T

(D) WrES(eh &=l ShTH e
FOIder[eh ERo=a SHTeSTaviHes e
HU 7

(A) T UISIATET 39S

(B) féa fea @ow

(C) T fatiy

(D) Hfdelge=n A9

G SR R S I

(A) TTEATIA HreSI-eh IThHT Ul

(B) WISt shu=reR f9a=ror Sroroy
(C) TSt U= I IThH ool

(D) ©ISFT SHOAHES [aaueh ol

[P.T.O.



15.

16.

17.

Sale of Government shareholding
of a central public sector enterprise
of upto 50% or more along with
transfer of management control is
called :

(A) Privatisation

(B) Disinvestment

(C) Divestment

(D) Strategic Disinvestment

The underlying concept of Smart
city is :

(A) Enhancement of quality rural

services

(B) Sustainable integrated
development

(C) Sustainable employment
generation

(D) Rural transformation and

rejuvenation strategy
States can borrow from within India
if :
(A)
(B)

Union Government agrees

Loan is still outstanding with
the Union

()
(D)

State legislature approves

State Finance Department

approves

15.

16.

17.
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~ ¢

SFIEATTH T IS0 AT e

[al (a) o

50% TId=l hald HIESITeh SYShHTEAT

IMEHE AeREl fasl Boe
(A) TSRO

(B) T
(C) Tt

(D) e s FMUlaaT®
e fadt 1 Heheuna affed R :

(A) T[UEETYU T FEHE JST

(B) IM¥ad Tehishd T
(C) wmyad e fAfHt
(D) UHUT ®UROT ST AR

el

WRATSTAIG TS B0 U 8IS ITohd
S ¢

(A) g VETH AT Hea™

(B) <hg ITEATRS TSI st STHATH

(C) TafafereaN A=l SHA™

D) T9 fau fayrme ar=ar e




18.

19.

Which committee report is placed in
parliament before discussion on

demands is initiated :

(A) Finance Committee

(B) Estimate Committee

(C) Public Accounts Committee
(D) Privilege Committee

Match List I with List II and select

the correct answer from the codes

given below :
List I
(@) Income Tax
(b) Tax on agriculture income
(¢) Property tax
(d) SGS and IGS tax
List II
(1) Local government
(2) Central government
(3) State government
(4) Centre and State Government
Codes :
(@ b)) () ()
Aa 2 & O @
B B @ @ @
© @ @O Q) @
O @O 8 @) @

18.

19.
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AOTO o W= BUATgE S Shivre
T Tead 999 Sad S ?
(A) fom Hfaet
(B) 1AM A
(C) T feene @i

(D) foeronfeorerr wfird
T 1 Hiad =it 1T Seea A1 @l
Hhand 9rg e e :
e 1

(@) 3IhT
(b) FHiETH A
(c) WICTHTT &
(d) TSI HIel Gell . 01 Tehifceh e

Tl HX

et 11

(1) w1 oA
(2) g A
(3) TS 3MEA
(4) =g ST =T TEA
Hehdieh :

(@ @) () ()
A 2 3 O @
B) B @ @ @
Cc @ @O B @
D) @1 & @ @

[P.T.O.



20.

21.

22.

The benefit principle of taxation has
given way to the principle of :
(A) Neutrality

(B) Equality

(C) Ability to pay

(D) Non-neutrality

Rosemary Sarri lists out the
following activities of social welfare
administration, which does not
include :

(A) Translation of social mandates
into operational policies and goals
Design of organisational
structures and processes
through which the goals can be
achieved

(B)

(C) Helping those who cannot help

themselves
(D) Selection and engineering of the
necessary technology
In India, the basic aims of a welfare
state are clearly fore-shadowed
in the :
(1) Preamble of the Constitution
(2) Fundamental Rights

(3) Directive Principles of the State

Policy

(4) Eleventh schedule of the
Constitution

(5) Twelfth schedule of the
Constitution

Choose the correct code :
(A) (1), (2), (4) and (5)
(B) (3), (4) and (5)

(C) (4) and (5)

(D) (1), (2) and (3)

20.

21.

22.
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T 1 A T Tt

T TR,
(A) qeEdm
(B) THMAM

(C) YT &HdT
(D) AqTEY

UL T G Sheamol JRITEHr=

FEE A IR Hedt g A AT

THEY ‘-|'I'5=T :

(A) TS SHRIMTE IR fharcTeh
g7 A &A1 Y0

(B) GoeATcHe ToAT emfor gfsman=t
SREE] SR &3 HEA Hdl Ig
NEXIG)

(C) T HEd Y0 3 Wd: o Hed &

Thd AR
(D) ATIATIH  AATAT
SRt IECa)
YRAT, heaUehil gt 3fesel I
T yfafafad sel oTR :
(1) dfgumrn Sevaaies
(2) ¥Yd BFh
(3) T~a o HifafdeTen
(4) wfayrma e g
(5) wfaym aIRE TR
AR Heharew e
(A) (1), (2), (4) =0T (5)
(B) (3), (4) 3Tfur (5)
(C) (4) =i (5)
D) (1), (2) A (3)

fqag  e1rfor




23.

24.

25.

Who stated “social change refers to
any modification in established
patterns of interhuman relationship

and standards of conduct” ?

(A) M.J. Jenson

(B) Lundberg and others

(C) Gillin and Gillin

(D) Davis

Affirmative action :

(A) Simply alters the composition of

elite positions in society

(B) is a conventional redistributive

system

(C) is an anti-poverty system

(D) is an employment generation

system

Which one of the following is not a

characteristic of voluntary agency ?

(A) Result of voluntary efforts

(B) Organised and governed on
democratic principles

(C) Registered under relevant act

(D) No corporate personality

23.

24.

25.
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IV A ¢ ¢ WA S5l RS JIe
oy S STEREfedd Wk T
Heledl TG HIvae! sga 8’ ?
(A) THAS. SHEA
(B) qeor Ao TR
(C) fifer snfor firfem
(D) sfe™

HhcHsh  foham ¢

(A) HHSTAS SAfSert ugr=n T=Hen
HeS Sgad

(B) B Ueh TN YATaor o 3T

(C) & s Tisw folieh =reren omR

(D) & TH YR fafddt =gawen o8

TIE] TR W] HIVd Teh
afyrs=y wEr ?

(A) ez Jact=n afioms

(B) TSIl Tralaedl Hee ST o

(C) HefYa s Aguia

(D) hidRe oAfeRicel el

11

[P.T.O.



26.

27.

Under which Articles of the
Constitution of India, seats are
reserved for SCs and STs in the Lok
Sabha and the State Legislature
Assemblies in proportion to their
population ?

(A) Article 338 and 339

(B) Article 146 and 244

(C) Article 19 and 49

(D) Article 330 and 332

Assertion (A) : Social welfare is a

dynamic concept.

Reason (R) : It is the responsibility
of the community and the state to
promote the well-being of the
underprivileged and disadvantaged
people of society.

Answer the question using the codes
given below :

Codes

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

Both (A) and (R) are true but
(R) 1 the
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

1S not correct

(&)
(D)

26.

27.
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WRATAT WSS ShIve SheTHITdid,
ARG S0 Toar= fore e d STggfed
STt enfur srgfead ST e
TAREEHA JHT ST STRIAA gaed
S

(A) hetH 338 U1 339
(B) whetH 146 30T 244
(C) whetH 19 3T 49

(D) *aH 330 7T 332

faam™ (A) : 9HIfSies HedmT & Uk
TR HehoUdl 378

HIUT (R) : GHSSA Sfera S0 gedfard

AR fed S & e 9 T

SEIEHEUE

@t fediel Hehdieh 9% 99T 3TR

ol o

et

(A) (A) 9 (R) Tl SeR q_d ST
(R) T (A) o T TIRH R

(B) (A) g (R) S=I s&X 3Rd, 901
R) T (A) 3 3T IR R

(C) (A) T RN AR, WF (R) T IH
3T

D) (A) T I 3T, WG (R) T TR
3R

12



28.

29.

The Supreme Court Judgement
which made it mandatory for all
government departments to consider
the name of mother along with father

for all practical purposes ?
(A) Vishakha Vs.

Rajasthan, 1997

State of

(B)
(&)

Laxmi Vs. Union of India, 2006

Geeta Hariharan Vs. Reserve

Bank of India, 1999

(D) Mary Roy Vs. State of Kerala,

1986

The Swadhar scheme was launched

in 2000-2001 :

(A) For providing holistic and
integrated services to women in

difficult circumstances

(B) To meet the credit needs of poor

women

(C) For providing temporary shelter

to the needy women and girls

(D) For providing financial

assistance for the construction
of building for working women’s

hostels

28.

29.
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Hell=d =TT hIT = ars] S
Tdl TMEehT fTARTHT 6 SRR e
afedr=a1 IE™ed Ed e SISy
SYTHRNH Hed AR ?

(A) Tovmen fasg Tsowa™ U9, 1997
(B) @iedt favg 9Rd 9, 2006

(C) Tian sftetw fadeg wda e o,

1999
(D) # U9 fadg i T4, 1986
YR AT 2000-2001 HES & AT
Bt
(A) w3 aRfEerdida Afga THE®
ST TR e v T
(B) TR Hfgai=n 4d T ot hIvararet

(C) RS dfgen & Fei aegear e
RUNELRIETIG

(D) wTHSTST Afgdr=  aqdEr=an
A=A SYRATES! faia drerea
fer

13

[P.T.O.



30.

31.

Match List I with List II and select
the correct answer from the codes
given below :
List 1
(Activity)
(@) Restoration of life lines
®)
(c)
d)

Planning and training
Emergency assistance
Hazard-resistant constructions
List II
(Phase)

(1) Response
(2)
3)
(4) Preparedness
Codes :

(@)
(A) (2)
B) (D
©) 3
D) @) 3) (1)
Which of  the following
characteristics describe the nature
of public policy ?
(@)
®)

Recovery
Mitigation

(b)
(4)
(4)
(1)

(c)
1)
(2)
4)
(2)

(d)
3)
3)
(2)

Policy may be narrow or broad.
Policy may be specific or
general.

(¢) Policy may be positive or
negative

Select the correct code :

(A) Only (a) and (b)

(B) Only (b) and (c)

(C) (a), (b) and (c)

(D) Only (c)

30.

31.
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Tt 1 Hred e 11 & Sjese S Sredtel
HhahiE Irg 3ax Hae :
gt 1
SHterTEETe gt
() TS = gitem
(c) AU HIRRA
(d) derries fmmo
e 10
EIGEIS
R (T
(3) &HA
(4)
Hehdieh :
(a)
A (2)
B) (1)

© 3 1 @ @
M @ B @ @

TITeATe IV AfITSel FTelstieh SRom=

WEUE JUF L 2

(@) RO Hepfaa fohan foema o1 vehd.

(b) o faf¥rse fepan WM 31 S1ehd.

(¢) RO GhRIcHe fohdal TehRIcH 3T
METS

TG Geahaieh fael :

(A) 9@ (@) M (b)

(B) hd (b) 3 (c)

(C) (a), (b) MU (c)

(D) ®a (c)

(@)

(1)
2)

(®)
(4)
(4)

(c)
1)
(2)

(d)
3)
3)

14
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32. Which one of the given below is a | 32. 4o fafddt gufaa om0 @reterieh]
non-official actor who influences FE T IR a2
policy making ? .

(A) Legislature (&)

(B) Executive (B) FrefarfersT
(C) Pressure groups (C) <o e
(D) Bureaucracy (D) TR

33. Normative Policy Analysis is | 33. STGSlcHe R0 fagersor = 3t

concerned with : TEfYa 3R,

(A) Description of facts (A) T FUA

(B) Value Judgements (B) 7ea foia

(C) Both (A) and (B) (C) = (A) =i (B)
(D) Anecdotes (D) =AEgd

34. The communication media sets | 34. GUS eI GEASTH Y] ICIEGl
public agenda by : TER FEE
(@) Amplifying issues o -

L ) (@) HHHETET Tl dTedd
(b) Bringing issues to the public
attention (b) Ao HREGRE @Y AYA
(¢c) Broadcasting thought () THER/YME Stagse foear e
provoking documentaries Fafaa wRE FE
concerning community life/
human life RUCESER NI
Select the correct code : (A) Hde (a) 3T (b)
(A) Only (a) and (b) B) (), (b) T (c)
(B) (a), (b) and (c)
(C) Only (b) and (c) (©) %7 (b) =T (c)
(D) Only (c) D) H ()
15 [P.T.O.



35.

36.

37.

Incremental Model of Policy Making
is developed by :

(A) Yehezkel Dror

(B) Charles Lindbloom

(C) Thomas Dye

(D) Herbert Simon

Who

identified two separate

approaches to policy process i.e.
emphasizing on knowledge of policy
process and knowledge for use in the

policy process ?

(A) Pareto

(B) Massey A.

(C) Muller D.

(D) Harold Laswell

Command and control regulation is

an example of :

(A) Authority based policy
instrument

(B) Information based policy
instrument

(C) Treasury based policy
instrument

(D) Organisation based policy

instrument

36.

37.
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(A) 39 IR
(B) =mey foresgH

(C) 9\E E™
(D) BES TEHA

*qrefsifeR Wfsha M SAIfor ¢ et eh
Gishaaed JEm= ST’ A GH o
gftedhiA AIEl ®ION hell 2

(A) =&

(B) W& T.

(C) B &t
(D) wee arEad

(A) AfeepR a1 ¥R |1eA
(B) Wifed! &Mfd €ROT 9red
(C) =Y &Rkd eRoT TreA

(D) GueTr aifiid & |ied
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38. The objective approach to policy | 38 &y livtlich-llvql TS gfesrm sfre
evaluatlon ].S almed N
(A) Determining the extent to g S
which laid down objectives are (A) Truifta Sfesea fordt ymmor Tre grett
achieved 3 3
(B) Understanding objective of
policies (B) #iRum=n Sfesw= e o
(C) Both (A) and (B) (C) a‘j,—tﬁ (A) 3t (B)
(D) Understanding the efforts of .
government (D) IMEATAT YA 3ATeheid h{U]
39. Match List I with List IT and select | 39. ! I i = 1T ool 301 Tirefret
the correct answer from the codes F@?W’F'T’ T IR e
given below : -{;Eﬁ I
L.ISt ! (@ s’
(@) Substantive
(b) Regulatory (b) =
(¢) Distributive (c) ToaomeHs
(d) Redistributive (d) Ao
List II
(1) Specific segment of society W I
(2) Basic social and economic (1) woIde fafime =ews
change (2) ISR ST oTfefeh Urmd sea
(3) Regulation of Trade and 1 e e e
Business
(4) General welfare (4) HEHIERT ST
Codes : Tehdieh :
(@ ®) () (@ ®) () ()
A @ 3 @ @ A @ G @ @
B) B @ @1 @ B) Q) @ Q) @)
© 2 @O G @ < @2 O 6 @
O O 2 @ A O 1 2 @ O3
17 [P.T.O.



40. Assertion (A) : The policy agenda

41.

is set by the interplay of public
opinion and public power.

Reason (R) : It is possible for policy
makers to study the relationship
between public opinion and policy

agenda.

Answer the question using the codes

given below :

(A) Both (A) and (R) are true and
(R) is the explanation of (A)
(B)

(&)

Only (A) is true, (R) is false

Both (A) and (R) are true, but
(R) is not the explanation of (A)

(D) Both (A) and (R) are false

One of the following is not five
elements of administration identified
by Kautilya :

(A) The of

means starting

undertakings

(B) Excellence of men and

materials
©)
(D)

Provision against failure

Rules about pension to servants

JUN - 21220/I1—C

40. Taam (A) : gRo1 g M g S

41.

ST SE A1 SR-FEHR T Bl
®IOT (R) : ¥R AT S sfon
R,
el feeied Hehdieh aTaEA JeE I
L3 1

(A) <I=I(A) 3TfUT (R) sRIeR Tied, SIfuT
R) ® (A) 3 TLH 3R

(B) % (A) SR 3T, (R) I 318

(C) TGt (A) 3TfUT (R) SRISR 2TTed, 901
(R) & (A) ¥ TIEIR0 el

(D) T (A) 3ufr (R) I Td
Hifeed T I TMER T T2k HITael

3T Telicieh! IV Teh Heeh e
& ?

(A) 3IYHH FE HIOAE HEAH

(B) 3= HIds ST |l
(C) STUFeNfaligd aXge hiul
(D) TrRterT fadiead svaeeadt Tas
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42.

43.

44.

Which report is a standard source for
making cross-country comparisons of

human development ?

(A) Gender Report

(B) World Bank Report

(C) UNDP Report

(D) ILO Report

to World Bank

which is not an indicator of good

According

governance ?

(A) Participation

(B) Transparency

(C) Responsiveness

(D) Responsibility

Which is the basic assumption of the

42.

43.
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ATa faswmEar=ar SaR-3¥ia o
OIS hIvEl T8 81 GHT Hid

e ?

(A) T steeme

(B) STifder ek ST8aTal

(©) FTEW. s

(D) *4.TA.30. Tedrd

STIfceh siehoal Hd ShIvTd GMEA a¥eh
& 2

(A) e

(B) URERIdT

(C) HfaHreermar

(D) SR

44. drkitae fEgA S gaqd TRIdw
Public Choice Theory ? e ?
(A) Methodological individualism (A) TEd HHEeTS FE EaEERE
(B) Utility maximization (B) =1faeran EEREnkI!
(C) Suboptimization (C) SUSHTHETTHIHTTT
(D) Integrative communication (D) THIHSHR FHETHAR
45. E-government is : 45, T E
(A) One-way communication
protocol (A) THHT W (TierRter) ferser=m
(B) Two-way communication (B) fgami F"FEFT (WRIRTA) =R
protocol
(C) Functionality (C) e
(D) Diagonal communication (D) SHURSTE T
19 [P.T.O.



46.

47.

48.

Which of the following is not the

model of E-democracy ?

(A) Topological model

(B) Electronic Bureaucracy Model
(C) Information Management Model
(D) Civil Society Model

According to Second Administrative

Commission, public order refers to :
(A) dJustice for each ...... Peace for all
(B) Friction to fusion

(C) Protecting by Righteousness
(D) Master key to Good Governance

Central Administrative Tribunal

Act in India has enacted in :
(A) 1948
(B) 1958
(C) 1985

(D) 1988

46.

47.

48.

JUN - 21220/I1—C

ETATAUSh] hIUd T-AThIME" GTEY
T ?
(A) &fasn ey

(B) ZoieR((eh ehQEl W

(C) WIfEdl =HIXATT UTEY
(D) A T qEq
TEI YUMHERE UM STEANTER,

TSI geAae WO

(B) WoEihed WANHS

(C) =TI T&oT

(D) YA efhea

TRATd I IR AT
A=A STHASSITION TSt el
(A) 1948
(B) 1958
(C) 1985

(D) 1988
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49. Match List I with List II focussing
on the themes of various Human
Development Report for the years
given below and select the correct

answer :
List I
(@) 2018
(b) 2017
(¢c) 2016
(d) 2015
List II

(1) Climate change and human

development
(2) Work for human development

(3) Planning the opportunities for
a youthful population

(4) Human development for

everyone
Codes :

(@ b)) @© @
Aa 3 2 @O @
B 3 1 @ @
Cc o @2 Q8 @
D 1 & @ @

JUN - 21220/I1—C

49. T I o = 11 3ft Sezen el e
SEtHISeA A forer stgerar=An faw
TR gfedy et o7t el feeren
HhaierE 9rg IR Eer

et 1
(@) 2018
(b) 2017
(c) 2016

(d) 2015

et 11
(1) JERUE S5 AT JFe faehra

(2) HMAd EEALSIESIGICaR

(38) U AHTIHE HeE e

(4) waEiEEl Ael faem
Hehdich :

(@ B) () ()
A 3 @ @O @
B G @O @ @
< @O @ B @
O @O G 2 @
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50.

51.

52.

Assertion (A) : The source of all
authority under the constitution is
the people of India and there is no
subordination to any external
authority.

Reason (R) : India ceased to be
dominion and declared herself
republic since making of the
constitution in 1949.

Answer the question by using the
codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true and
(R) is not the correct
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) 1is false but (R) is true

According to whom “A systematic
effort to gain knowledge is
‘Research’ ?

(A) Dr. P.L. Bhandarkar
(B) Rodman and Moore
(C) C.A. Moser

(D) Herring

Which of the following is not a data
collection method ?

(B)

(A) Research problem
(B) Unstructured interviewing
(C) Postal survey questionnaires

(D) Participant observation

50.

51.

52.
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fagam™ (A) =11 &R (R) :

faeam (A) : Sfagmsiatd 96 Afumie
B R ek 3Aed ST H3eATal sl
srfererrrelt Stefi= ARG

THIUT (R) : 1949 =1 Wige fAfHdrarg

TRATIT STt T8 IR A3 TR

CIEGRE ISR

el Fehdiehigd 9rg qaE faer

Hehdieh :

(A) (A) d (R) 31 sRI&X 3TRa (0T
(R) T (A) o T TIRHI R

(B) (A) & (R) T8 alls) 3TRd, W
(R) T (A) o Tk TIEHRT TG

(C) (A) § TR 31, 99 (R) § TH
3

D) (A) ® I &, 90 (R) & SR
EIE

I T e TEe RS Weied

' & e divm ?

(A) T TTE. e

(B) JewA offor i)

(C) Hu. HER

(D) &l

WTeATeTdeh! IOl STER T Heheld

ISl A ?

(A) e FHEE

(B) STEfed Hamerd

(C) ST He&u YeAEE!

(D) Seyrll fer
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53.

54.

55.

56.

57.

Mrs. Pauline Young has stated ..........
type(s) of facts.

(A) one
(B) two
(C) three
(D) four

The study of naturally occurring
events of a situation is called :

(A) Experimental research

(B) Field research

(C) Survey research

(D) Theoretical research

What does ‘Sampling cases’ mean ?
(A)
(B)

Sampling using sampling frame
Identifying people who are
suitable for research
(C) Researcher’s briefcase
(D) Sampling people, newspaper,
TV programmes, etc.

A research topic is reduced to an
acceptable size by :

(A) Working hypothesis
(B) Research hypothesis
(C) Null hypothesis

(D) Alternate hypothesis

Formal interviews are :

53.

54.

55.

56.
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T YR WS

(A) -1 <iehe STORIG VI AT

(B) SRNEAMNIET ara it

(C) wemgehrt &

(D) HKIT, STHMIS IFE=auit FEH,
Rl

TENYH TS WhE RN AR

TeM ol S

(A) &E TRIAFA
(B) wIMeM TEIagd
(C) - TRIdHhA

(D) dehfedqeh TRIdHE

57. o=l qamwed § owd
(A) Uncontrolled (A) s
(B) Intensive (B) &
(C) Unstructured ©) R
(D) Friendly (D) st
23 [P.T.O.



58.

59.

60.

Match List I with List IT and select
the correct answer from the codes
given below :
List I

(@) Unique interview
®)
(c)
(d)

Personal interview

Focused interview

Others administered interview

List II

(1) Interviewer’s role is mild

(2) Interviewer himself writes

answers

(3) Collects entire information

(4) Face to face contact

Codes :
(@)

(A) (2)

(B) 3)

©) 2)

D) @)

It 1s a

(b)
(1)
(4)
1 @ O
2 G @

form of non-probability

(c)
3)
1)

(d)
4)
(2)

sampling :

(A) Simple random
(B) Stratified random
(C) Systematic

(D) Purposive

The prescription-oriented report
should not be :

(A) Value Driven

(B) Normative

(C) Casual

(D) Purposive

58.

59.

60.
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= I Frerd =t 1T Sesan S weftel
Hehdlehlqd Ig I feer .

et 1

TSI HeATEd

(@)
)
(c)
d)

afRIeh HaTerd

g qared

TAUAT Hdela! gorrerd
gt 10

Heeeshert G

o

[Henl

(1)
2)

(oSN oSN

ledl

AeATerdehal @&d: I |

(3) Hyul mifect Heher

(4) F9@ U

Hehdieh :
(@)

(A) (2)

B) 3

© @ O @ 3

D @ 2 & @

YAl T A @ YRR ST

(A) WS Fgfesh

(B) W Agfoseh

(C) YeFarteerd

(D) Heh

IYF-SRA g

(A) ed Ferfaa

(B) sTewiicHe

(C) wrEfieR

(D) ¥ TR

(®)
(1)
(4)

(c)
(3)
1)

(d)
4)
(2)
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61.

62.

63.

Development of Public Adminis-
tration is characterised according to
‘locus’ or ‘focus’, in which locus is the

institutional :
(A) ‘what’ of the field
(B) ‘when’ of the field
(C) ‘where’ of the field
(D) ‘how’ of the field

According to Josiah Stamp, Public
Administration is not characterised
by :

(A) Uniformity of rules

(B) Political accountability

(C) Coordination

(D) Matrix structure

Decision-making comprises of three

different activities :

(A) Intelligence, design, choice
(B) Intelligence, problem, choice
(C) Opinion, design, choice

(D) Intelligence, design, environ-

ment

61.

62.

63.
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ey o afere I (R
foran ‘@aft’ stETETeR fEiia oa o
W ‘Sl § HEAHE

(A) foomm ‘=@’ e

(B) formm ‘whem’ o1

(C) fawam ‘&’ o

(D) fam= ‘=d' oTR

S =W I=A "Hd AR YA

Wrefld hiv fofaes afyrse T ?

(A) faH=T ThETdr

(B) TS STEIIE

(C) "H==T

(D) Toerfaa w=m

foiggfsraa & @9 fa=1 St wIfas

SIESI I

(A) Sifgeh, Ghoud, o

(B) sifges, Tue, fers

(C) Hd, Hheud, fHae

(D) dlifgeh, Hehoud, TATER

25
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64.

65.

66.

Assertion (A) : Instrumentality
role subsumes the subordination of
the administrative system to the
political control.

Reason (R) : In Parliamentary
democracy executive is accountable
to the legislature.

Answer the question using the below
given codes :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

Both (A) and (R) are true but
(R) i the
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

According to Pfiffner the following
is not the kind of staff :

(A) General
(B) Technical
(C) Auxiliary
(D) Line

For civil servants in India, code of

(B)

1S not correct

conduct facilitates :
(A) Administrative skill
(B) Economic risement
(C) Political neutrality
(D) Greater freedom

64.

65.

66.

JUN - 21220/I1—C

faam (A) : FRa qfyshd TSh
IERERINIENIEEI I Cro Il BE)|
®IUT (R) : TG AhYRAES -
FHHSSE HES TSl SRS 8.
@t Hehdiehiqd g gatg faer .
Hehdich :

(A) (A) 9 (R) <&t s 37 (R)

(A) 9 Tk TR AT

(B) (A) & (R) Tl s 7R, 9O
(R) ¥ (A) ¥ 3T9h TR0 TR

(C) (A) T TR 3Te, 90 (R) § TH
3

(D) (A) & IF 3%, 997 (R) T SN
Sl

fRTRFICEATH WCiTeTush! ShIVTT TTERARI
TR A& ?

(A) 9™

(B) it

(C) 9ryq 9k
(D) wit

gfaen ura 8 :

(A) TRTH&HE T
(B) omfefe gamm
(C) TSI qeEdl
(D) sy @A
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67.

68.

69.

T-group developed by National
Training Labs, USA is cited as an

example of :

(A) Role play and management

games

(B) Sensitivity training

(C) Incidence training

(D) Syndicate method

Neutrality of civil servants lies

in :

(A) Indifference to the government
policies

(B) Keeping away from public

(C) Non-belief in party ideology

(D) Responding to the government

of every complexion

The determinant of span of control

is not :

(A) Functional uniformity
(B) Leader’s ability

(C) Informal relations

(D) Geographical location

67.

68.

69.

JUN - 21220/11—C
sTfhda Tsta gfdteron yEvTemess
foerfd selel d-T2 § HIME SR
e ?

(A) Ta =1 S e Elos
(B) Hergefterar wfkiaro
(C) 3 wiieror

(D) wefd usd

TIET A=l qeEqdl EeiieTdeh] sheld

eed 2

(A) IMEHE YROTEEAS] SEIEdT

(B) SHIURA gLl

(C) USTehIT qeir=a draliAed 3ifagerd

(D) T fa=mRe s wiaaR
s & ® fAuie e

(A) HEHE TehTHdT
(B) ~AT=t TSI
(C) HT=RE Hay
(D) Hriiferss &M

[P.T.O.



70.

71.

Match List I with List II and select
the correct answer from the codes
given below :
List I

(@) Decision tree
b)
(c)
d)

Simulation

Delphi Technique

Link-pin concept
List II

Trial and error approach to
complex problems

(1)

2)
3)

Group decision technique

Graphic method to
alternative solutions

Avoid face to
communication

Codes :
(@)

A) 3)

(B) (2)

e @ 6 @ @

D @ 1O 3 @

Which of the following statements

is incorrect regarding the classical
theory ?

(A) Classical theory is the name
given by Herbert Simon

Classical theory believes in the
existence at certain universal
administrative principles

Classical theory is also known
as administrative management
theory

It gives adequate attention to
formal and informal groups in
the organization

see

face

(4)

(d)
(2)
3)

(b)
(1)
(4)

(c)
4)
(1

(B)

(&)

(D)

70.

71.
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= 1 Ererd = 1T Segen A1 wreftel
Hehdiehlqd ard W Eer
et 1

ot g4

(b) ST ar<d

() ST o

(d) fas-dH Ferea

e 10

Sfedt THEEE 9IS JHIG gk

g fofa o=

(3) TR IUAMEE! e UGt

(4) FEREERE gEaTE el

Hehdieh :
(@)

(A) )

(B) (2)

< 1 B 2 @

MD) @) @1 3) (@

TS fagTar=n deuid @refia shivrd

foaum g oM ?

(A) sifyea g € 919 gele aaHa
I e

(B) stfva faga & fafvea dftaes
AR Td [HSIdl=dl HlI&Edcd Al
H=IA <l

(C) sfusita fagid &1 IeTESRE
ZeRTad Hgia WUel Sfesera
ST

(D) TeeAdial Si=ieh & M=
Tgihe d@ Y A& Il

(@)

(1)
2)

(b)
(1)
(4)

(c)
4)
1)

(d)
(2)
3)
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72.

73.

74.

75.

Which one of the following is not
prakriti (or vital organ) of the state
according to Kautilya ?

(A) Svamin

(B) Kosh

(C) Senapati

(D) Amatya

Weberian model of bureaucracy
is :

(A) Universal

(B) Adaptable

(C) Innovative

(D) Best in stable environment

According to Max Weber, there is
the principle of fixed and official
jurisdictional areas, which are
generally ordered by :

(A) Rules
(B) Constitution
(C) Laws
(D) Legislature

Elton Mayo’s experiment to explore
human attitude and sentiments by
free expression of likes and dislikes
is known as :

(A) Illumination experiment
(B) Relay test room experiment
(C) Ventilation therapy

(D) Bank wiring experiment

72.

73.

74.

75.
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FIfer=a A WIeierdeh! IVl 52
T Yehdl AT 2

(A) A

(B) =9

(C) Ot

(D) 3fH1=

Jad AhEE WY Y g ?

(A) gIa=

(B) STgeherita

(C) ifer=rgo
(D) feer feodimen waw

TR SRR, Y= o shrierd= tfyeR
AT T 3T, S AH=I90) A6 AR
A

(A) Tz

(B) ST

(C) =

(D) faferees

JEAT & AT AT STERER A gieshH
9 HHEl 9eAl Al Teed WEH Y
YU YA hedl, Il 3T WU

(A) YT IS GANT
(B) & &= w1 w@M
(C) =feerm fordt

(D) s IR FAM
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76.

77.

Assertion (A) : Under theory Y’
integration of behaviour is the key
process in management.
Reason (R) : It results in condition
conducive for members to achieve
their own goals as well as
organisational goals.
Answer the question using the codes
given below :
Codes :
(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)
Both (A) and (R) are true and
(R) is mnot the correct
explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
Match List I with List IT and select
the correct answer by using the
codes given below :
List I
Recipient of Elliott Cresson
Gold Medal.
Roman Agrarian History and
its significance for public and
private law.
Spiritual father of social system
school.
Called as a scientists’ scientist.
List II

Chester Barnard
Herbert Simon
(3) Max Weber
(4) Fredrick Taylor
Codes :

(@)
(A @)
(B) 3)
©) )
D) (1)

(B)

(@)
)

(c)
(d)

(1)
2)

(c)
(1)
(2)
4)
3)

(d)
(2)
(1)
(2)
(2)

(b)
3)
(4)
3)
(4)

76.

77.
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faeam (A) : Tagia vV Aqia e

OAYfshal & e TShTcHIR 3T

HIUT (R) : T Sfesex efoy

[qIEE ey e FI0AEE W

gfifeerdt fafor 6.

Trelt fooiel Gehdish AMI& U9 3T

o

Tehdiah :

(A) (A) & (R) S8 s 3 (R)
(A) 3 ITgH TEIHW 38

(B) (A) 9 (R) Sl IR 3Ted, 991
(R) T (A) ¥ 3T TI=IHI0 el

(®) ;}é%aﬁm e, 97 (R) & IH

D) gﬁé%’% AR, T (R) ¥ TR

=t 1 Hreid =il 11 o Seger i @ieitel
Gehdidlqd e e faet

gt 1
Al HET U Ugh™ SR
A9 St Sfaer 2o Aresifes erfor
T Pk FeYld e e

(@)
®)

(c) HMHIfSTeh o< T qeafcae
SEED
(d) AR ST
T 11
(1) =& FAe
(2) T HEHA
(3) Had I
(4) el e
g
(@ b)) © @
A @ Q3 @O @
B B @ @2 @
Cc @O 3 @ @
O 1 @ B @
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78. ‘Every managerial act rests on | 78. Wieh AR Fal FAGERIT 3T’
theory’ is the basic hypothesis of : 7 A YA Jfedded R :
(A) Herbert Simon (A) T HEEA
(B) F.W. Riggs (B) Th.ey. fosl
(C) Chester Barnard (C) =R &I
(D) Douglas McGregor (D) =@ HRIR
79. Post-modern Public Administration | 79 swR-anefe AyeTHA fagiarEt Sc=
::)}fle:ory had its origin in the results S
(A) Scientific management (A) YT ST
(B) Hawthorne experiment (B) o= gIm
(C) Minnobrook conference ©) ﬁ:ﬁ% TR
(D) Comparative administrative
group (D) qoicHs 9RIEA 71
80. New public service : 80. W9 Wk Hal :
(1) Serves the customer (1) Tk F1 <d
(2) Serves the citizens (2) TR Feal Td
(3) Emphasizes on productivity (3) STHRHAR X <A
(4) Emphasizes on public interest (4) WreSTR fedmeR o <d
Codes : Hehdlch
(A) (1) and (2) (A) (1) 30T (2)
(B) (2) and (4) (B) (2) ST (4)
(C) (1), (2) and (4) (©) (), 2) = (4)
D) (), (2), (3) and (4) D @), (2), () S (4)
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81.

82.

83.

84.

In the Buddha period, the king was
elected for a fixed period and was
accountable for his action to :

(A) Amatya
(B) Parishad
(C) Janpada
(D) Sabha

Who was the Head of Province in
the Mughal period ?

(A) Subhedar
(B) Diwan

(C) Fauzdar
(D) Prantpal

For the first time in India by which
Act the Governor General of India
was given the power of legislating
ordinance ?

(A) Government of India Act, 1858
(B) India Council Act, 1861

(C) India Council Act, 1892

(D) Morley-Minto Reforms

How many committees were formed
by the Constituent Assembly for
the of the
Constitution ?

(A) One
(B) Five
(C) Six
(D) Seven

making Indian

81.

82.

83.

84.

JUN - 21220/I1—C

I§ e o1 & F=d weel
Fagan Sa 2ran ST =M= Fraret A
SR 3

(A) AHH

(B) ufe

(C) S9L

(D) |

ATA HTAGIS 9iaral Y8 &I
Bl ?

(A) IR

(B) feam

(C) ISER

(D) WUt

HIRATd ‘|°6"|°{—\T|"1{Q'1Q’i| dcgenH cnleVHIdl

sifere afecaier &Ivrean &wEE™
THaren ?

(A) ¥d 9RR hEqr, 1858

(B) 9Rd 9Rwg ke, 1861

(C) 9Rd 9Rwg hraer, 1892

(D) Hii-fH=1 gomon

qRAE Ffaam §99 vRdE gfaym
fopclt Wi TomuA s ?

[ehdl

CEIERRIRIE]
(A) T
(B) U=
(C) T

(D) 9
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85. Article 312 of the Indian 85. Q:|'|’{T—ﬁ'q {|\;—qb|¢q-o¢|| h1q 312 ‘J:[%ﬁm?ﬁ'
Constitution provides for .............
(A) Setting up of the central TR 7
services (A) H3F Jart IUROM
(B) Creation of the Union Public (B) ©9 e qar A ffHd
Service Commission L. .
(C) Code of conduct for civil servants (C) TRI HIHTHIS! A= e
(D) Creation of the All India (D) Al aRd™ Qe i
Services N > &
86. Who has the power to extend 86. g SR 2 *™ ST
the functions of Public Service ’
Commission ? (A) Tegudt
(A) President (B) ©&&
(B) Parliament (C) Taqgem
(C) Prime Minister
(D) Chairman (]?) ey N
87. The three basic Acts related to | 87 W T ATERRES ST Hiferd
Police administration have their ERUSELURERIED ?ﬂqw%m .
jurisdiction all over the country. @ 3“%3 :
These are : 1) & sfeam foia wre
(1) The Indian Penal Code (2) f& e Aw R ey
(2) The Code of Criminal Procedure 8) & sfea sfmesw sfw
(3) The Indian Evidence Act (4) fe o1ia sfean Ofdq w9
(4) The All India Service Rules i )
(CPSngnl:y (D (&) 3d (D
(B) (1) and (2) (B) (1) i (2)
(©) (1), (2 and (3) (©) (D), (@) 3w (3)
D) (1), (2), (3) and (4) D) (1), (2), (3) s (4)
88. Which one of the given below is not | 88. Ereft feetedrist o T Afkreey
a feature of planning in India ? ECICCIRERIE R M | F
(A) Comprehensive in scope (A) I St
(B) Multi-level (B) 9g-wA
(C) Indicative (C) <IURT
(D) Long-range planning (D) et FEsE
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89.

90.

Which one of the following
statements is not true regarding the

Supreme Court of India ?

(A) Federal Court
(B) Court of Appeal
(C) A guardian of the Constitution

(D) A safeguard of the Government

Assertion (A) Public
Administration in India is not

citizen-centric.

Reason (R) : Civil servants in India
are not held accountable to the

people.

Answer the question using the codes

given below :
Codes :

(A) Both (A) and (R) are true, but

(R) is not the reason of (A)

(B) Only (A) is true, while (R) is

false

(C) Both (A) and (R) are true, and

(R) is the reason of (A)

(D) Both (A) and (R) are false

89.

90.
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Halsd AR se Seieideht hiod
TH d6 T I ?

(A) TE AT

(B) TUA™ =T
(C) wfaymra e
(D) THRA FI&Th

I (A) ; YRAKT AR AT
whiga &l
HIOT (R) : YRAd R Heesh Al

SEIEHISE I

Trell feoiel Fehdieh TTEA TR I

oo

Hehdich :

(A) T (A) 37for (R) SRR, W (R)
T (A) 3 FRO AR

(B) @aa (A) SRR, R (R) I 3T

(C) TGt (A) =TT (R) sRIeR, 37T (R)
T (A) ¥ HRU 3R

(D) =T (A) sufor (R) g% T=d
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91. Which one of the following is not | 91. @cildiiesh! HITA Teh T TFUTATAI
under the purview of Governor ? e I AT ?

(A) He can reserve a bill for the (A) T et A T
consideration of the President

TE[A 3 ehdl

(B) He can make a report about the
failure of the Constitutional (B) Tsard WfaemfTds FAM STEEA
Machinery in the State SCATTEd 3Tedldl aaR ]

(C) Article 239(2) which gives him (C) ™ 239(2) AT 34 AfYHR <
certain functions when ""‘“':1,‘;’ F Eeenad TEINT WIS
appointed to be Administrator

e P forger e
of a Union Territory

(D) He can suspend the fundamental D) «t AR A
rights during emergency TR HE Il

92. The Governor appoints the Chief | 92. ITIUTA HEAHATHT AHIEH HIUAT
Minister of State according to the FAATER Il ?
Article :
(A) hetq 152
(A) Article 152
(B) <eH 153

(B) Article 153

(C) Article 164(1) © 164(1)

(D) Article 165 (D) a4 165

93. State services are : 93. T WAl 3T :

(A) Modelled on the basis of All (A) e IRATE Qe e grEy

India Service o
(B) T WIhRgR A=

(B) Controlled by State Governments

(C) Protected by the Constitution (C) ToEeIgR Hfed

(D) Regulated by the State Act (D) T rfyfEmgR fefha
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94. Who has given the title ‘Cold

95.

Hopping Collector’ for the account
of the Collector ?

(A) Philip Woodruff

(B) O’Malley

(C) John Murray

(D) S.S. Khera

Match the List I with List II and

select the correct answer from the

codes given below :
List I
Collector
Talathi
Police Patil
Kotwal
List II

(@)
)
(c)
d)

(1)
(2)
3)
(4)
Codes :

(a)
A) (1)
(B) 2)
C) @
D) 3)

Deputy Collector
Collector
Tahasildar

Governor

(b)
(2)
3)
(1)
(2)

(c)
3)
(1)
(2)
(1)

(d)
4)
4)
3)
4)

JUN - 21220/I1—C

94. TocRIfUerarse ‘Hiee BT e’

95.

g 3ftie ol foa e 2
(A) frellT Je&r
(B) 30"
(C) S 13
(D) TETHE. B0
T T Ererd =it 1T Sfesen Sfo7 Errefia
'{:@W I IaR Faer
ot 1
ISSIEEat
LICH
Tiferd arfed
EAREIH
T 11
SufsrerTferenrl
ISSIEEat
(3) TEHITRR
(4) TUA
Hehdich :
(@)
A 1)
B) @)
C) @
D) 3)

(@)
)
(c)
(d)

(1)
2)

(®)
(2)
3)
(1)
(2)

(c)
3)
(1)
(2)
(1)

(d)
(4)
(4)
3)
4)
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96.

97.

Assertion (A) : District Administra-
tion is the real strength and power
of the State Government.
Reason (R) : “District Adminis-
tration plays an extremely crucial
role in assisting the policy makers
in implementing their policies.”
Answer the question using the codes
given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) i the
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Which of the following is not the
objective of the Jawaharlal Nehru
National Urban Renewal Mission ?

(B)

1S not correct

(A) Focussed attention to integrated
development of infrastructure
service in cities

(B) Ensuring adequate funds to
meet the deficiencies in urban

infrastructural services

(C) Special focus on urban renewal
programme for the old city

areas to reduce congestion

(D) To make more strong to urban
local self-government

96.

97.
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faemT (A) : fSeer WA 7 U9 It
T YEl ST STf¥eh R 3TTE.

HRUT (R) : &R0 fHafern e

STHAISIUNT HEd Hhi0ATd TSToal T

AUl iR IR drEd.
@relid Hehdishiqd Aard e e .

(A) (A) g (R) St aIeR 3R, 3T
(R) T (A) o T TILIH R

(B) (A) g (R) Tgl e Ted, qUI
(R) ¥ (A) 3 STgeh TSR0 T

(C) (A) T SR 38, 90 (R) § I
3

D) (A) § I 3R, 90 (R) &
E3IE

SRR [l FE i Lo N R U | E 1T

THeM=T Eefiayes! v Se9 ATer ?

(A) ToeA sidfa gofase ARl &
Y ST Tahidhd forehTdeR aiel
Thigd ol

(B) TRUGA qEyd Hadiel Suften g
FHOITS! At el gHfeea s

(C) YU Afaeea el HLvIER
= A SR T A TR0
FHRiHAER foRie WX <0

(D) AR Tefer ST TR STfen
EECCTU
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98. Match List I with List IT and select

the correct answer from the codes

given below :

(@)
b)
(c)

(d)

(1)
2)
3)
(4)

List I
Rural Local Bodies
Cantonment Boards
Urban Local Bodies

Local Governments in Union

Territories
List II
Home Ministry
Rural Development Ministry
Defence Ministry

Urban Development Ministry

Codes :

(@ ) (© (@

@ 1 3 @ @

B @ 1O B @

© 1 B3 @ @

M 2 B @ @

JUN - 21220/11—C
98. ¥ I ¥ §= I1 o e A0 Tl
feeiean Hehdiehlqd =g 3 fae :
et 1
(@) T TR Hee

(b) TEU HEw
(c) el Tenfqer TEen

(d) HeIMEd YA Tonfaer TmEA

e 11
1) 7§ =
(2) T o HeTeE
(3) H&TU WO
(4) TR0 o HoAer™
Hehdiah :

@ &) © @
A @O G @ @
B 2 O 3 @
e @® 8 2 @
D 2 & @ @
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99. Which one of the following is not

important issue in Municipal Waste

Management in India ?
(A) Transfer of waste
(B) Collection Procedure
(C) Management

(D) Supervision

100. Which one of the following is not

true about Mahatma Gandhi

National Rural Employment

Guarantee Act, 2005 ?

(A) It is the world’s biggest

development project

(B) It is under the Panchayat Raj
bodies

(C) It enhances decentralised
participation in rural
development

(D) 50 percent of its funds are to be
spent directly by Gram
Panchayat

99.

100.
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TRAA TRE kel ST
TeiicTehl IO Teh Hewa g0l HGal
e ?

(A) STRE TAFTR

(B) Heho ggdl
(C) HIEATTH

(D) TEaeTu

EITCITeTIh! ShIvT Ueh § FETCHT e Teerd
JTEOT SR W AT HEEl, 2005

ST SR ATEr ?

(A) BT ST Taiq Ael faehr Yehed
e

(B) @ U TS HErAl A Al

(C) wrHior foerramed fashfsa Tgwm
EICER]

(D) = T 50 wfdaea W v=rd

YU ©d FE Ihd
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ROUGH WORK
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